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Please check that this tion paper contains 11 printed pages.

Code number give @% the'right hand side of the question paper should be
written on the titlej%age of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(iii) ©US 37 H Uh-Uk 37 qIc7 6 97 3 | @US T 7 6 Y97 & 577 G JI% 2 37% BT & |
TGS G H 10 97 @IT-AT 3Hh 5 & | @S T HE8 Io7 8 577 G I dFH 4 3% T & |

(v) Y9797 7 HI¥ GHT by 78 & | aoifT 1 3% ard 2 o9 7, 2 371 ard
2 Y%l 7, 8 3Hl it 4 I H 3K 4 37H] dic? 8 Il H 3aRke fdhed Fard 13T
7w & | 0G gl 7 s7rqen! 13w 7@ fameql 7 @ ot Uk y97 5 FAT 8/

(v) Dageet] & JIT 1 FEA TG E |

General Instructions :

(i) All questions are compulsory.

(it) The question paper consists of 30 questions divided ‘into four sections —
A, B, C and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each and Section D
contains 8 questions of 4 marks each.

(iv) There is no overall choice. Howe an internal choice has been provided in two
questions of 1 mark each, t (&\questions of 2 marks each, four questions of
3 marks each and three q ons of 4 marks each. You have to attempt only
one of the alternatives in\ uch questions.

(v) Use of calculators is n@ermitted.

N WUE A
SECTION A

97 G&IT1 G 6 T T Jo41 8 # & |
Question numbers 1 to 6 carry 1 mark each.

1. x99 W @ fog P& ficwms fafew st fog A= 2, 0) @@ fog B(6, 0) &
T g WA |
Write the coordinates of a point P on x-axis which is equidistant from the
points A(- 2, 0) and B(6, 0).

2. TH FId il :
sin? 60° + 2 tan 45° — cos? 30°
A
Ife sin A = 3 %, ?ﬁsecAW@ﬁm |
Evaluate :
sin? 60° + 2 tan 45° — cos? 30°
OR

If sin A = §, calculate sec A.
130/2/2 2
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A 1 W, ABC U wuigarg Bys & 5@ =i ¢ @weplor g @
AC=4cm? | AB<hH @S 31d hifvT |
A

AN

STHIT 1
arat

(T 2 H, DE || BC 8 | Y51 AD il &g 1d hifSC Siafh fca T &
AE = 1-8 9#t, BD = 7-2 @t 91 CE = 5-4 4 |

In Figure 1, ABC is :a%"lsosceles triangle right angled at C with
AC =4 cm. Find the 1 of AB.

$
N,

Figure 1

OR
In Figure 2, DE || BC. Find the length of side AD, given that AE = 1:8 cm,
BD =72 cm and CE = 54 cm.

Figure 2
feama Tefiertr 2x2 — 4x + 3 = 0 % Tl ! TR J1q HINT |

Find the nature of roots of the quadratic equation 2x2 —4x + 3 = 0.

3 P.T.O.
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5. I 9.9. (HCF) (336, 54) = 6 7, dl &1.9. (LCM) (336, 54) ITd shifoT |
If HCF (336, 54) = 6, find LCM (336, 54).

1

6. THIR I _45,_

1

3, _1_,
2

Find the 215 term of the A.P. — 4

Qus d
SECTION B

o7 GEIT7 & 12 T 9P T F 2 3F B |
Question numbers 7 to 12 carry 2 marks each.

7. k% fpE AW % fau 1 s & 3w o aiid €9 9 /9H® & gl

&1 2197 92 A4 hifQ |

—,-3,-1—, ...
2 2

2x +3y=7 3M (k+2)x-3(1-k)y=5k+1

For what value of k, will the following pair of equations have infinitely
many solutions :
2x+3y=7 and (k+2)x-3(1-k)y=56k+1

i 1 i

fAfrfigd IRErdT s 1 RIS
925 — 30 "85 185 —40

1% T 40 —45 | 45-50 | 50 — 55
{0

25 §>

34 50 42 38 14

IRERAT

Find the mode of tl%gf?ollowing frequency distribution :
2530 | 30-35 | 35-40 | 40-45

Class Interval : 45 -50 | 50 -55

25 34 50 42 38 14

Frequency :

T HTS HIVT T F §S BV HT HE B I & A & 18° 1My 7 | gHT hivl
& A T I |

o
g i 3Ty 3Teh o i Y K I TR 7 | uiT T % e, IHhHT Y I
a2 <l 7Y I T8 AT & T | 36 q9 gl Y o1y fohad 9 7 2

The larger of two supplementary angles exceeds the smaller by 18°. Find
the angles.

OR

Sumit is 3 times as old as his son. Five years later, he shall be two and a
half times as old as his son. How old is Sumit at present ?
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10. U SR H whad Hd, ohlc«iﬁ?ﬂ%iﬁ%‘|%Wﬁﬁmg@m@ﬂmﬁ%
ﬁmaﬁ?ﬁmﬁw %Hwﬁwﬁﬁwaﬂﬁﬁ%mg@mHeblcfmﬁ
fteRa L %laﬁwﬁlléwéaﬁ%?ﬁwﬁwwsﬁwm
"ﬁﬁm

The probability of selecting a blue marble at random from a jar-that

contains only blue, black and green marbles is —. The probability of
selecting a black marble at random from the same jar is i If the jar
contains 11 green marbles, find the total number of marbles in the jar.

11.  x 3R y H T a9 1A HINT qlleh fog Ax, y), B(—4;.6) @21 C(-2, 3) H&E™
&l |

HAAAT
39 FIYS 1 &Fha 31 i o (1,-1) (- 4,6)TAM(-3,-5) 8 |
Find a relation between y if the points A(x,y), B(-4,6) and
C(- 2, 3) are collinear. &
O
N OR
Find the area of a @gle whose vertices are given as (1, — 1) (- 4, 6) and
(_ 35 - 5).

12. 98 999 B wedn fafeau st 306 qen 657 g1 & quiaan fawrted & |
Write the smallest number which is divisible by both 306 and 657.
Qs g

‘ SECTION C
J97 GE&IT 13 22 % I 97 & 3 3F & |

Question numbers 13 to 22 carry 3 marks each.
13. fag A, forgatl X(6, — 6) A1 Y(— 4, — 1) ! T a1t T@m@ve XY W 36 TR

feua g T %:%% | 3fg fog AT@T 3x +k(y+ 1) = 0 W oft ferd &, a1 k
1 HH A Y |

Point A lies on the line segment XY joining X(6, — 6) and Y(— 4, — 1) in
such a way that % = % If point A also lies on the line 3x + k(y + 1) =0

find the value of k.

5 P.T.O.
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15.

16.

17.

x % [T B HIT

x2+5x—(a2+a—6)=0
Solve for x :

x2+5x—(a2+a—6)=

Ife sin (A + 2B) = g dAT cos (A + 4B) = 0 8, &l A dA B = hI01 &, ql
AT B 914 VT |
Find A and B if sin (A + 2B) = g and cos (A + 4B) = 0, where A and B

are acute angles.

fog fifSw 6 2 + 543 = mfey gwn g, feon mn e 5 V3w sy
e 8 |
AT

Ifeers Vermiiken & Jm 204%@9@%1:3 (HCF) rd HfST |

Prove that 2 +5+/3 is @; irrational number, given that /3 is an
irrational number. \Q

& 0w
Using Euclid’s Algorithm, find the HCF of 2048 and 960.

% BC T T & 9% &l ®HehIv (3sl ABC 991 DBC sH1T 7T § | I AC qem
BD T &t i foig PW Wfd=sg #d &, ai fag hifsg

AP x PC = BP x DP.
YA

T gads PQRS &H PQ || RS 2, o ool 9o foimg O W wfdeeg % 2 |
Ifg PQ = 3RS &, @ Bl POQ @ ROS o &FAhali sl 31U 1A ShifaTT |
Two right triangles ABC and DBC are drawn on the same hypotenuse BC

and on the same side of BC. If AC and BD intersect at P, prove that

AP x PC = BP x DP.
OR

Diagonals of a trapezium PQRS intersect each other at the point O,
PQ || RS and PQ = 3RS. Find the ratio of the areas of triangles POQ and
ROS.

6
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18. 3Mhfd 3 W, PQ @M RS, O g arat el g W & T|ier woeix@md & iR
¥} forg C W T9@i-t@1 AB, PQ %1 A @21 RS &I B W Jid=sg =l 7 | fag
$ifsie fos ~ AOB=90°2 |

4 D 4Q)

O
C

& " Py s

R E B S
5 3
In Figure 3, PQ and RS are two parallel tangents to a circle with centre O

and another tangent AB with point of contact C intersecting PQ at A and
RS at B. Prove that £ AOB = 90°.

P D 4Q

E B
Figure 3
19. 3T 4 ¥, TH I & OPBQ % 37dd Tk o OABC &A1 §371 7 | g
OA = 155t 3, @ & 1 AThA T HINT | (7 = 3-14 T HIfQ)
B

S

R
S

Q P

!
ST 4
rerat
A 5 H, 242 T Yo Il s ABCD U o1 o AW A1 8T @ |
BHATThd & T &% T I | (1 = 3-14 T il

130/2/2 | 7 P.T.O.
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20.

21.

In Figure 4, a square OABC is inscribed in a quadrant OPBQ. If
OA = 15 cm, find the area of the shaded region. (Use n = 3-14)

Figure 4
OR

In Figure 5, ABCD is a square with side 2+/2 cm and inscribed-in a circle.
Find the area of the shaded region. (Use n = 3-14)

K\Q
Lgure5
Th 319 Sl & 3R @%ﬂ% gl R AR 8 | 31 6l P oS
ZOﬁ%HWWW7ﬁ§ | 3 H FA A FG BT |

(n:%?ﬁﬁ'ﬂ §

A solid is in the form of‘a cylinder with hemispherical ends. The total
height of the solid is 20 cm and the diameter of the cylinder is 7 cm. Find

the total volume of the solid. (Use &t = %)
= ez gam sie7 100 ferenf¥ft grr weh when § wTed sieRt i gwl @R

TedTeh 30-35/35-40|40-45 |45 -50|50 — 55|55 — 60 |60 — 65
fommiert T @ | 14 16 28 23 18 8 3
formfelit < #rew 31k F@ i |
The marks obtained by 100 students in an examination are given below :
Marks : 30-35|35-40 | 40-45 | 45-50 | 50-55 | 55 -60 | 60 — 65
Number of
14 16 28 23 18 8 3
Students :

Find the mean marks of the students.

1307212 | 8
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22. k% fore wH o o, sigug
fix) = 3x* — 9x3 + x2 + 15x + k,

3x% — 5 ¥ quiqan fauTfra g g 2

atera
fguma sgug 7y2—%y —g % Y[ 1A hIIY R Iehi AT ORI o o=l
% HaY i FeIAdl hl T HINT |

For what value of k, is the polynomial
fx) = 3x*—9x® +x2+ 15x + k

completely divisible by 3x2-57?

OR
Find the zeroes of the quadratic polynomial 7y2 — %y - % and verify
the relationship between the zeroes and the coefficients.
N
\\Q@vg =
¥ SECTION D

T &I 23 F 30 TF TAH 4 3% 8/
Question numbers 23 to rry 4 marks each.

23. Tig HfT 6 1 omEg. MYSi 6 AABC! BT T FTh! FTq ST o I
ST % TR BT &

Prove that the ratio of the areas of two similar triangles is equal to the
ratio of the squares on their corresponding sides.

24. AW $41E % g @ 80 WX S THh % qHI AR THGH % @ 8 |
gl @Fl o offe wgh o fohEll foag P ot Tk @ o 3 w1 39 10T 60° B
qAT G @FY o XY H foirg P h THA IV 1 0 30° & | GRAT ol SearsAl
qr foeg P h! @il & Al S hIfT |

Two poles of equal heights are standing opposite to each other on either
side of the road which is 80 m wide. From a point P between them on the
road, the angle of elevation of the top of a pole is 60° and the angle of
depression from the top of the other pole of point P is 30°. Find the
heights of the poles and the distance of the point P from the poles.

2/2 9 P.T.O.
Download all NOTES and PAPERS at StudentSuvidha.co


http://studentsuvidha.com/
http://studentsuvidha.com/

EgE
510
o
25. PO TS At Th HUS i A @ T 200 3 | A Ig HUST 5 WX 31
TET 3l AT YA Hie Hug hl AN T 2 H &N, d HUS I FA ANG H
I3 IR T&l BT | U I Jrdfaeh Uid HIX ToF FTd HINTT AT HIS hl
NISIERIEICCIE
The total cost of a certain length of a piece of cloth is ¥ 200. If the piece
was 5 m longer and each metre of cloth costs ¥ 2 less, the cost of the piece
would have remained unchanged. How long is the piece and what is its
original rate per metre ?
26. TATR UG -7, —12, 17, —22, ... 1 HIF-HT U€ —82 BN ? 4T —100 3T THTA
It BT IS IS BT ? FhRUT IR &qTsU |
HAAAT
THTE A 45, 39, 33, ... < fohad Ul H1 ATHA, 180 BN ? TEL I HI
ST ST |
Which term of the Arithmetic Progression -7, =12, —-17, -22, ... will be
—82 ? Is —100 any term of the A. P ? Give reason for your answer.
How many terms of the A ‘t@wtlc Progression 45, 39, 33, ... must be
taken so that their sum 15@ ? Explain-the double answer.
27. Tag i fh -
Q
tan 0 +§CO1:6 = 1+ sec 6 cosec 0
1-—cot 6O 1-tan®
AT
farg Shifsre 1o
sin O sin O
= 2+
cot O + cosec 0 cot O — cosec 6
Prove that :
tan 0 + cot 0 = 1+ sec 6 cosec 0
1—cot 6 1-tan®
OR
Prove that :
sin 0 sin 0
= 2+
cot 0 + cosec O cot 6 — cosec O
130/2/2 10
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28. fmfaifga s 1 ‘@ %0 YR & ¥eq U defou 3 ft 3gen qor difu
I ITAUA ;|30 -40|40-50| 50-60 | 60 —70 | 7080 | 80 —90 |90 — 100

FRERAT 7 5 8 10 6 6 8
Change the following data into ‘less than type’ distribution and draw its
ogive :
Class

30-40140-50| 50-60 | 60—-70 | 70-80 | 80 ~90./90 — 100
Interval :
Frequency : 7 5 8 10 6 6 8

29. 5 Ul Yo It §HETg S ABC i T HINT | fRT T 31 B Rl
aﬁﬁnﬁaﬁwm@ﬁmmcﬁw&mﬁﬁgﬂ=ﬁﬁl

HAAAT
2 Bift forsa % o9 W 5 ®W@W§H@ﬁﬁn | a1 99 R o
o w frg P 8 SR qu.g0w wiEe PA o PB 1 T b |
PA 1 TTE HIT | Q\Q’G
Construct an equilateral A ABC with each side 5 cm. Then construct

another triangle whose sides are g times the corresponding sides of

A ABC.

OR

Draw two concentric circles of radii 2 cm and 5 cm. Take a point P on the
outer circle and construct a pair of tangents PA and PB to the smaller
circle. Measure PA.

30. g % UH 3 @Y H 220 It S9TE o Uh oA ek YR 61 AW 24 A
2, & ST 60 At ST T Th 3 doi1 ALANUa 2 fSaehi Brean 8 ot 2 |
39 @Y & YR F1d Sifoe, sefe feon mn 2 f6 1 99 anft ik &1 o ur
8 UM 2 | (n =314 T i)
A solid iron pole consists of a cylinder of height 220 cm and base diameter
24 cm, which is surmounted by another cylinder of height 60 cm and

radius 8 cm. Find the mass of the pole, given that 1 cm? of iron has
approximately 8 gm mass. (Use n = 3-14)
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